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1. A certain type of account must be opened

with an investment for a positive integer


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MFdchrZDYGRb

number of years. No other deposits or
withdrwals are permitted, and the account
earns 7 percent intest that is compounded
annually. If $400 were invested in the account
for x years, what is the smallest possible value
of x such that at the end of x years, the
amount in the account will be least 3 times

initial investment ?

A 14

B.15

C.16


https://dl.doubtnut.com/l/_MFdchrZDYGRb

D. 17

Answer: D

° Watch Video Solution

2. Point P is the endpoint of vector OP and
point Q is the endpoint of vector 0Q. When

the vectors OP and OQ are added, what is


https://dl.doubtnut.com/l/_MFdchrZDYGRb
https://dl.doubtnut.com/l/_QHEtxp9NkIYo

the length of the resultant vector ?

DO YOUR FIGURING HERE.

A . 1.41

B.2.24

C.2.65

D. 3.00

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_QHEtxp9NkIYo

3. What is the area of a triangle whose vertices
are (0, 6/3), (1/35,7),and (0,3) ?

A.15.37

B.17.75

C.21.87

D. 25.61

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QHEtxp9NkIYo
https://dl.doubtnut.com/l/_J7AFid2D36Iu

4. The radius of right circular cone A is 5 of

the radius of right circular cone B, and the
1

height circular cone A is 1 of the height of

right circular cone B. What is the ratio of the

volume of right circular cone A to the colume

of right circular cone B ?


https://dl.doubtnut.com/l/_OKj4fJcK6dY9

Answer: D

o Watch Video Solution

5. The greatest possible distance between any
two points on the surface of a right circular
cylinder is /193 and the area of the circular
base of the right circular cylinder is 367. What

is the volume of the right circular cylinder ?

A. 252m

B. 2947


https://dl.doubtnut.com/l/_OKj4fJcK6dY9
https://dl.doubtnut.com/l/_T4NyBepuMcX3

C.343n

D. 3867

Answer: A

° Watch Video Solution

6.In Figure the length of XY is 48. What is the

length of YZ ?


https://dl.doubtnut.com/l/_T4NyBepuMcX3
https://dl.doubtnut.com/l/_fqlJIMCHd4mj

A.16.4

B.70.8

C.95.1

D. 140.3

Answer: D

l ° Watch Video Solution


https://dl.doubtnut.com/l/_fqlJIMCHd4mj

7. In Figure STUV is a parallelogram with a

perimeter of 14. What is the y - coordinate of

point T ?
Yy
A
T L
39°
5(3,2) V(7.2)
0) > X

A.1.26


https://dl.doubtnut.com/l/_fqlJIMCHd4mj
https://dl.doubtnut.com/l/_PFPbakZqySIN

B.1.89

C.3.26

D. 3.89

Answer: D

o Watch Video Solution

8. The mean of a finite set S of humbers is 14,
the median of this set of humbers is 12, and
the standard deviation is 1.8. A new set T is

formed by multiplying each member of the set


https://dl.doubtnut.com/l/_PFPbakZqySIN
https://dl.doubtnut.com/l/_aCpDjM5hekTz

S by 3. Which of the following statements
must be true of the set T ?

|. The mean of the numbers in set T is 42.

ll. The median of the numbers in set T is 36.

lll. The standard deviation of the numbers in

set Tis 5.4.

A.lonly

B. Il only

C.land Il only

D. I, Il, and Il

Answer: D


https://dl.doubtnut.com/l/_aCpDjM5hekTz

° Watch Video Solution

9. There are 7 orange disks and 5 green disks
in bag X and there are 5 orange disks and 15
green disks in bag Y. If one disk is selected at
random from each bag, what is the probability

that both disks selected are green ?


https://dl.doubtnut.com/l/_aCpDjM5hekTz
https://dl.doubtnut.com/l/_gbkkwUVrJb97

Answer: C

o Watch Video Solution

10. The terms of a sequence are defined by
a, = 3a,_1— a,_o for n > 2. What is the
valueofasifa; =4anday = 37

A. 12

B. 23


https://dl.doubtnut.com/l/_gbkkwUVrJb97
https://dl.doubtnut.com/l/_qp4zIHSLKcXG

C. 25

D. 31

Answer: D

° Watch Video Solution

4 20 .
M If —+4=— + 20, then what is the
Y Y
4
valueof — +47?
Y
A —1

B.O


https://dl.doubtnut.com/l/_qp4zIHSLKcXG
https://dl.doubtnut.com/l/_quCvSLaHFPHb

C.1

D. 4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_quCvSLaHFPHb
https://dl.doubtnut.com/l/_9smcol49EGCt

LY
r+y

Answer: A

° Watch Video Solution

13. One complete of the graph of y = — cosx
is shown in the Figure. What are the

coordinates of the point at which the


https://dl.doubtnut.com/l/_9smcol49EGCt
https://dl.doubtnut.com/l/_ZLiq1fUTM7lF

maximum possible value of y occurs ?

RN

y

I

Answer: C



https://dl.doubtnut.com/l/_ZLiq1fUTM7lF

o Watch Video Solution

14. Which of the following CANNOT occur

when a line is in the same plane as a triangle ?

A. The points of the line inside the triangle

and on the perimeter of the triangle

divide the triangle into a triangle and a

quadrilateral.

B.The line has exactly three points in

common with the perimeter of the


https://dl.doubtnut.com/l/_ZLiq1fUTM7lF
https://dl.doubtnut.com/l/_6LaqwJQBMIvl

triangle.

C.The line has exactly one point in

common with the perimeter of the

triangle.

D. The triangle and the line have infinitely

many points in common.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6LaqwJQBMIvl

15. What is the value of x if \ / % — 2.747

A. 52.55
B.57.54
C.94.87

D. 105.11

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_30lWUDiCGGkx

16. Which of the following is equal to cos 6 ?

Y %

T(a, b)

3]
O - | X



https://dl.doubtnut.com/l/_pMuNdwgu3XXj

Answer: A

o Watch Video Solution

17. If f(z) = \/2* — 3z +6 and

156
x4+ 17

, then what is the value of

B.7.4


https://dl.doubtnut.com/l/_pMuNdwgu3XXj
https://dl.doubtnut.com/l/_ybaUVIe5nPSg

C.7.7

D. 8.2

Answer: C

° Watch Video Solution

18. If xyz # 0 and
30z " °y'%2 7% = 10z “%¢y°z*, then what is the

value of x in terms of yand z ?


https://dl.doubtnut.com/l/_ybaUVIe5nPSg
https://dl.doubtnut.com/l/_NjjsJwV3CKpk

Answer: A

o Watch Video Solution

19. In Figure PQRS is a square. What is the

slope of segment QR ?


https://dl.doubtnut.com/l/_NjjsJwV3CKpk
https://dl.doubtnut.com/l/_aMTQ60zqJuoW

}/A

P(0,7)

(7,10)
Q



https://dl.doubtnut.com/l/_aMTQ60zqJuoW

Answer: B

o Watch Video Solution

20. When defined, tan(3z)cot(3z) =

A —1

. V3
3

C.1

D. tan® 3z

Answer: C


https://dl.doubtnut.com/l/_aMTQ60zqJuoW
https://dl.doubtnut.com/l/_EGEjk1yWJpnA

° Watch Video Solution

21. If 4 and O are both solutions to the
equation q(x) = 0, where q(x) is a polynomial,

then it can be concluded that a factor of q(x)

is
A. 22
B. (z — 4)°
C.z2 + 4z


https://dl.doubtnut.com/l/_EGEjk1yWJpnA
https://dl.doubtnut.com/l/_6I2jsWKvqo2J

Answer: D

o Watch Video Solution

22. Which of the following could be g(x) if

f(z) = 5z + 4and f(g(3)) = 847

A 3x — 10
B.4r — 7
C.6x — 17

D.z2 - 5


https://dl.doubtnut.com/l/_6I2jsWKvqo2J
https://dl.doubtnut.com/l/_I3dULVRGbGuR

Answer: D

o Watch Video Solution

23. Figure shows line n in a rectangular

coordinate system. An equation of line n is


https://dl.doubtnut.com/l/_I3dULVRGbGuR
https://dl.doubtnut.com/l/_sW7xrqTquHQl

A

"
+ 4,5
il

A.x=4

B.y=4

C.x=5

5
D.y= —x


https://dl.doubtnut.com/l/_sW7xrqTquHQl

Answer: A

o Watch Video Solution

24. A student's mean score on 5 tests was 84.

The student's mean score on the first 4 of

these tests was 87. What was the student's

score on the fifth of these tests ?

A. 68

B.72

C.75


https://dl.doubtnut.com/l/_sW7xrqTquHQl
https://dl.doubtnut.com/l/_uSQadcZSAZ0h

D. 81

Answer: B

o Watch Video Solution

25. f 0 <z < % and cosx = 0.34, what is
. (T
the value of sin (E) ?
A.0.574

B.0.733

C.0.819


https://dl.doubtnut.com/l/_uSQadcZSAZ0h
https://dl.doubtnut.com/l/_YN11A9hWGW9N

D.0.917

Answer: A

o Watch Video Solution

26. During a seven - day period, a company
produced 49,812 items that it considered
acceptable and 21,348 items that it considered
unacceptable. If the company produced a total
of 10,830 items on the first day and the

percent of the items produced on the first day


https://dl.doubtnut.com/l/_YN11A9hWGW9N
https://dl.doubtnut.com/l/_NA4t0k6AZLdr

that the company considered acceptable was
the same percent of items that the company
considered acceptable for the entire seven -
day period, how many items produced by the
company on the first day did the company
consider acceptable ?

A. 3, 508

B. 4, 332

C.5, 415

D. 7, 581

Answer: D


https://dl.doubtnut.com/l/_NA4t0k6AZLdr

° Watch Video Solution

27. For every pair (x, y) in the rectangular
coordinate plane,
f:(z,y) — (&, — 8x + 3y). What is the set
of points for which f: (z,y) — (z,y) ?

A. The point (-4, 0)

B. The point (4, 12)

C.The set of points (x, y) that satisfy the

equation x = 4y


https://dl.doubtnut.com/l/_NA4t0k6AZLdr
https://dl.doubtnut.com/l/_EyRIh1q4MoVT

D. The set of points (x, y) that satisfy the

equation y = 4x

Answer: D

o Watch Video Solution

28. When the number x is subtracted from
each of the numbers 8, 16, and 40, the three
numbers that result form a geometric

progression. What is the value of x ?


https://dl.doubtnut.com/l/_EyRIh1q4MoVT
https://dl.doubtnut.com/l/_jDN3Rn9aIxPy

A3

B.4

C.6

D. 12

Answer: B

o Watch Video Solution

29. If f(z) =az*+bx+c f( —1) = — 18,

and f(1) = 10, what is the value of b ?


https://dl.doubtnut.com/l/_jDN3Rn9aIxPy
https://dl.doubtnut.com/l/_fjffNut2o46p

Answer: C

o Watch Video Solution

30. What is the domain of the function

f(z) = /z? +3?


https://dl.doubtnut.com/l/_fjffNut2o46p
https://dl.doubtnut.com/l/_8JGy17xlDYSo

A—-173 <z < 1.73

B.—1.32 <z <1.32

C.x > 1.32

D. All real numbers

Answer: D

o Watch Video Solution

180
x + 3

31. The function f is defined by f(x) =
for £ > 0, and f(z) = 60 for x < 0. Figure

shows the graph of y = f(z). What is the sum


https://dl.doubtnut.com/l/_8JGy17xlDYSo
https://dl.doubtnut.com/l/_CC0hon0E4lMC

of the areas of the three shaded rectangles ?

v

A

e

30 3 6 9 1215 18

e

A 111

B. 135

C. 141

D. 180


https://dl.doubtnut.com/l/_CC0hon0E4lMC

Answer: C

o Watch Video Solution

32. Which of the following are the equations

of lines that are asymptotes of the graph of

T’ — 64
Yy = ?
(3z +4)(z — 5)
Lz = —8
. X=5
M.y = —


https://dl.doubtnut.com/l/_CC0hon0E4lMC
https://dl.doubtnut.com/l/_uJ9gT6LUSo1t

B. Il only

C.land ll only

D. Il and Il only

Answer: D

o Watch Video Solution

33. If f(z) = 7z + 12 and
flg(z)) = 2122 + 40, then which of the

following is g(x) ?


https://dl.doubtnut.com/l/_uJ9gT6LUSo1t
https://dl.doubtnut.com/l/_sX4I4Ev6ETPx

A 2122 + 28

B. 212

C.Tx% + 4

D.3z% + 4

Answer: D

° Watch Video Solution

34. A circle is tangent to the lines with the

equations x = 5 and y = 7. Which of the


https://dl.doubtnut.com/l/_sX4I4Ev6ETPx
https://dl.doubtnut.com/l/_6C15Vxoaytu0

following could be the coordinates of the

center of the circle ?

A.(3,7)

B.(8,4)

C. (10, 8)

D. (10, 14)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6C15Vxoaytu0

35. What is the range of the function f that is

defined by

f(a:) _ 3$2+1,if. L Z 0 ?
br + 3,if © <0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_S14hd5XINyJh

36. If 22 —Ty=8ax—y=1 and y >0,
what is the value of y ?

A.1.64

B.4.78

C.5.64

D.6.14

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_S14hd5XINyJh
https://dl.doubtnut.com/l/_wgOZWHw5UzF8

37.If f(z) = log7% for z > 8, then for the

values x of its domain , f ~!(z) =

A.8(7")
B. 7(8%)
c.8(7 )

x
D. log; 3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Z7lmGNhuq6Bs
https://dl.doubtnut.com/l/_RSgNKNWuHvjG

38. If z1 =2 and =z, = z2 + 8, then
Ly —

A. 3.46

B.4.47

C.5.29

D. 8.49

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_RSgNKNWuHvjG

39. In Figure, C is the center of the semicircle,
and the area of the semicircle is 8r. What is

the area of triangle ABC in terms of 6 ?

A 2sinftan@

B.4sin®

C.8cos 6


https://dl.doubtnut.com/l/_K3OIRU9YuIbP

D.8sinf

Answer: D

o Watch Video Solution

40. Exactly 70 percent of the people in each of
3 rooms are seniors at university X. If one
person is selected at random from each of the
the 3 rooms, what is the probability that each
of the 3 peple selected is a senior at university

X?


https://dl.doubtnut.com/l/_K3OIRU9YuIbP
https://dl.doubtnut.com/l/_BhlyC7nBXklD

A. 0.2401

B.0.343

C.0.49

D. 0.64

Answer: B

o Watch Video Solution

41. What is the value of x if 4.18% = 36.54 ?

A.0.86


https://dl.doubtnut.com/l/_BhlyC7nBXklD
https://dl.doubtnut.com/l/_8xAhiQizyoKg

B.1.43

C.1.80

D. 2.52

Answer: D

o Watch Video Solution

42. If sin (arcsin x) = 5 then what is the

value of x ?
V2

A —
4


https://dl.doubtnut.com/l/_8xAhiQizyoKg
https://dl.doubtnut.com/l/_nfVm33GOH3y4

Answer: A

o Watch Video Solution

43. The sum of the first 25 terms of an
arithmetic sequence is 1,400, and the 25th

term is 104. If the first term of the sequence is


https://dl.doubtnut.com/l/_nfVm33GOH3y4
https://dl.doubtnut.com/l/_ellZZuOCm92I

a; and the second term is a5, what is the value

Of&z — Cl,l?

A —3

B.2

C.4

D.5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ellZZuOCm92I

44, For all
0, sin 6 + sin(6 + 7) + sin(27 4 0) =

A. —sin@

B.sin®

C.2sinf

D.3sind

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VZNzViCxwlip
https://dl.doubtnut.com/l/_uM6dSxJUTsOb

45.If n is a positive integer, then

1
AT Dt 2(n+3)
1
n—+5

B.

1
. (n + 5)(n + 6)
1
(n+5)(n+6)(n+7)

D.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_uM6dSxJUTsOb

46. The graph og g(z) =z +1 was
translated 4 units to the right and 2 units up,
resulting in a new graph h(x). What is the
value of h(3.7) ?

A.0.973

B.1.784

C.1.973

D. 2.973

Answer: D

I o Wiak lh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_z5Hz5uv1Z8R9

YVCILLIL VI INAGINIE L )

47. A five - letter code is formed by selecting 5
different letters from the 12 letters A, B, C, D, E,
F, G, H, |, ], K, and L and placing these 5 letters
in the 5 spaces shown in Figure. Which of the
following expressions is the number of

different five - letter codes that are possible ?

DO YOUR FIGURING HERE.



https://dl.doubtnut.com/l/_z5Hz5uv1Z8R9
https://dl.doubtnut.com/l/_Vcetw1KC2Wjk

12!

A ——
418!
12!

(51)(7")

Answer: C

o Watch Video Solution

48. Which of the following sets of real
numbers is such that if x is an element of the

set and y is an element of the set, then the


https://dl.doubtnut.com/l/_Vcetw1KC2Wjk
https://dl.doubtnut.com/l/_LA56Y3PgzZ0X

sum of x and y is an element of the set ?
l. The set of negative integers
ll. The set of rational numbers
lll. The set of irrational numbers
A.None
B.lonly

C.land Il only

D. 1l and Ill only

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LA56Y3PgzZ0X

49, If the length of the major axis of an ellipse
with the equation 5z* + 24y® = 40 is j and
the length of the minor axis of the ellipse is n,
then what is the value of j + n ?

A. 2.58

B. 5.66

C.6.95

D. 8.24

Answer: D

[ 1


https://dl.doubtnut.com/l/_LA56Y3PgzZ0X
https://dl.doubtnut.com/l/_fx9R4Oczay6I

I D Watch Video Solution

50. Which of the following describes the

., 1—o5z . .
values of x for which is negative ?
z? +1
Az >0
B.x > !
T >
Cz < !
T <z
D.O<z < !
: T <z
Answer: B

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_fx9R4Oczay6I
https://dl.doubtnut.com/l/_E3dUtHjsxYNj



https://dl.doubtnut.com/l/_E3dUtHjsxYNj

